A ASH
N Vi i

Automotive Hardware

Wheel Lug Nuts & Caps
APPLICATION GUIDE 2014

.. F \

FMSI AUTOMOTIVE HARDWARE




Wheel Lug Nuts & Caps

Automotive Hardware

3800 3801

3808 3827

3846 3853

3854 3855 3856 3857 3858 3859 3860
Part No. Diameter / Type Hex size Overall Length Finish
3800 7/16"- 20 Standard 3/4” T4mm Zi
3801 M12 x 1.25 Standard 21mm 16.25mm Zi
3802 1/2"x 20 Standard 13/16" 15.7mm Zi
3803 1/2"x 20 Standard 3/4" T4mm Zi
3804 M12 x 1.25 Standard 19mm T4mm Zi 3862 3863
3805 M12x 1.5 Acorn 19mm/ 3/4" 31.75mm Ch
3806 MI12x 1.5 Acorn 19mm/ 3/4" 3Tmm Ch ;
3807 1/2" x 20 Acorn 19mm/ 3/4" 31mm Ch
3808 7/16" x 20 Acorn 3/4" 34.7mm Ch -
3827 M12 x 1.25 Acorn 19mm/ 3/4" 31Tmm Ch
3828 M12x 1.5 Acomn 21mm 33mm Ch Y
3841 M10 x 1.25 Acorn 17mm 21mm Ch 3864
3842 M10 x 1.25 Acorn 19mm 35.25mm Ch
3843 M14x 1.5 Bulge 22mm 21mm Zi
3844 M12x 1.5 Bulge 19mm 23mm Zi
3845 M12 x 1.5 Dometop capped 19mm 37mm S/S
3846 M12 x 1.5 External Thread 19mm/ 3/4" 28mm Zi
3847 M12 x 1.5 Wirewheel 19mm 44mm S/S
3848 M12 x 1.5 Standard 21mm 18mm Zi
3849 M12x 1.5 Acorn Flanged 19mm 35mm Ch 3866 3867
3850 M12 x 1.25 Acorn 21mm 29mm Ch
3851 9/16" - 18 Dometop Bulge 24mm 1-1/27 Ch
3852 1/2" - 20 Dometop Bulge 3/4" 1-39/64" S/S
3853 M12 x 1.5 External Thread 19mm 34mm Zi
3854 M14 x 1.5 External Thread 22mm 26mm Zi
3855 M14 x 1.5 External Thread 22mm 30mm Zi
3856 M14 x 2.0 Flanged Flat 21mm 23mm B
3857 M14 x 2.0 Dometop capped  20mm 50mm S/S 4683 5120C
3858 M12x1.25 Acorn 21mm 29mm Ch Finishes:
3859 1/2" - 20 Wirewheel 3/4" 1-1/4" Zi Bl - Black, Ch - Chrome
3860 1/2" - 20 Bulge 13/16" 59/64" Zi G - Grey, S/S - Stainless
3861 M12 x 1.5 Flanged Flat 21mm 37mm Ch Zi - Zinc, Std - Standard
3862 M12 x 1.75 Flanged Flat 19mm 23mm Bl
3863 1/2" - 20 Acorn 13/16" 1-3/8" Ch
3864 M14 x 2.0 Wirewheel 21mm 3Tmm S/S
3865 M24 x 2.0 Grey Cap 19mm 33mm G 3868
3866 M24 x 2.0 Black Cap 19mm 40mm BI
3867 M24 x 2.0 Black Cap 19mm 33mm BI 0134 - Wheel Nut Assortment
3868 M14x2.0 Dometop capped 21mm 54mm S/S 100 pcs - 6 Sizes
4683 M12 x 1.5 External thread 19mm/ 3/4" 31.25mm Zi
5120C M12x 1.5 Black Cap 3/4" 30mm BI 0163 - Master Wheel Nut Floo

Stand Assortment 373 pcs




Aatomotive # (ware

WHEEL LUG NUTS & CAPS APPLICATION GUIDE

ACURA

AM GENERAL (HUMMER)
AMERICAN MOTORS
BUICK

CHEVROLET

CHEVROLET & GMC LIGHT TRUCKS

CHRYSLER

DODGE

DODGE LIGHT TRUCKS
EAGLE

FORD

FORD LIGHT TRUCKS
HONDA

HYUNDAI

INFINITI

ISUZU

ISUZU LIGHT TRUCK
JEEP

KIA

LEXUS

LINCOLN

MAZDA

MAZDA LIGHT TRUCK
MERCEDES
MERCURY

MERKUR

MINI & MINI COOPER
MITSUBISHI

NISSAN

NISSAN LIGHT TRUCK
OLDSMOBILE
PASSPORT
PLYMOUTH

PONTIAC

PORSCHE

RENAULT

SAAB

SATURN

SCION

SMART FOR TWO
STERLING

SUBARU

SUZUKI

TOYOTA

TOYOTA LIGHT TRUCKS
VOLKSWAGON
VOLVO

Index

PAGE 1

PAGE 1

PAGE 1

PAGE 1 &2
PAGE 3 & 4
PAGE 5 &6
PAGE 6

PAGE 7

PAGE 8

PAGE 8
PAGE8 & 9
PAGE 9 & 10
PAGE 10 & 11
PAGE 11
PAGE 11 & 12
PAGE 12
PAGE 12
PAGE 12& 13
PAGE 13
PAGE 13
PAGE 13
PAGE 14
PAGE 14
PAGE 14
PAGE 15
PAGE 15
PAGE 15
PAGE 15 & 16
PAGE 16 & 17
PAGE 17
PAGE 17 & 18
PAGE 19
PAGE 19
PAGE 19 & 20
PAGE 21
PAGE 21
PAGE 21
PAGE 21
PAGE21

PAGE 21
PAGE 21
PAGE 21 & 22
PAGE 22
PAGE 22 & 23
PAGE 23
PAGE 23
PAGE 23 & 24



Automotive Hardware

Application wheel stud nuts Page 1
Make/model Year Stud Nut Option#1 Option#2
m Acura
n CL 03-97 Zi 3844
gy 97 Zi 3844  3845s/s
: Integra 01-86 Zi 3844 3849 ch
89-86 Zi 3844
G Legend 96-86 Zi 3844
MDX 12-07 N/A
z 06-01 Ch 3805
° NSX 05-91 Ch 3849
RDX 12-11 Ch 3805
: RL 12-05 N/A
04-96 3849 ch 3828 ch
< RSX 06-02 Zi 3844 3849 ch
0 SLX 99-96 Ch 3827
== TL 12-05 N/A
- 03-96 ch 3827
n TSX 12-09  Front Ch 3849
12-04 Ch 3828
l ZDX 12-10 N/A
< AM General
m Hummer 1 99-92 N/A
Hummer2 08-05 Zi 3843 3806 ch
n Hummer3 10-06 Zi 3844 3806 ch
a American Motors 88-77 All Zi 3803 3807 ch
Audi N/R
q BMW N/R
m Buick
h Allure 09-05 Ch 3828  3845s/s
: Century 05-97 Alum & Steel Wheels Zi 4683 ext 3844z 5120Ccap
96-82 Zi 3804 3805ch
z 81-73 Zi 3800 3808ch
Electra & Electra 225 90-85 Zi 3804 3805ch
G Enclave 12-06 Zi 3843 3844 zi 3806 ch
: Estate wgn 90-71 Zi 3802 3860
La Crosse 12-10 Zi 3843 3844
d 09-05 SS 3845 3805ch
LeSabre 05-86 Alum & Steel Wheels Zi 3804 4653 5102C  3865gry
4 85-77 91/2" drums Zi 3802 3808ch
m 85-77 10" drums Zi 3800
m 76-71 Zi 3802



Page 2

Make/model Year Stud Nut Option#1 Option#2
m Buick cont'd
n lucerne 11-06  Alum & Steel Wheels Zi 3804 4653 3866blk  3865cap
gy Park Avenue 05-91 Alum & Steel Wheels Zi 3844 3866 3846 ext 3866cap
: Ranier 07-04  Alum & Steel Wheels Zi 3804 4685 5102C  3865cap
u Reatta 91-89 Alum & Steel Wheels Zi 3844
Regal 12-82  Alum & Steel Wheels Zi 3844 3846 ext 5102Ccap
81-73 Zi 3800 3808ch
z Rendevous 07-99 Alum & Steel Wheels Zi 3804
° Riviera 99-82  Alum & Steel Wheels Zi 3844 3805ch
Ty 78-71 Zi 3802
h Roadmaster 96-91  Alum & Steel Wheels Zi 3844
< Skyhawk 89-81 Zi 3804
0 80-75 Zi 3000 3808ch
- Skylark 98-80 Zi 3804
4 Somerset 87-86  Alum & Steel Wheels Zi 3844
Special 98-80 Zi 3804
n 79-64  w/drum brakes Zi 3000 3808ch
l Verano 2012 Ch 3805
< Cadillac
Alante 93-87 Zi 3844 3805ch
m Catera 01-97 N/R
Cimmaron 88-82 Ch 3805
n Concors 05-85  w/5 bolt pattern Zi 3844 3805ch
< CTS 12-10 Zi 3844 3805ch
u 09-04 N/A
DeVille 05-85 w/5 bolt pattern Zi 3844 3805ch
q 84-72 Zi 3802
71-60 Zi 3802
m Eldorado 02-79 Zi 3844
78-67 Zi 3802
h 66-60 Zi 3802
: Escalde 12-00 Zi 3843 3844 Zi 3855
z Fleetwood FWD 93-85 Zi 3844 3805ch
Fleetwood RWD 96-91 2" rear drums w/ABS Zi 3844 3805ch
96-91  2.75" rear drums Zi 3802
G wo/ABS
: Fleetwood RWD 90-72 Zi 3802
4 Seville 04-80 Zi 3844 3805ch
79-77 Zi 3802
- 76 Zi 3800
m SRX 11-10 Zi 3843  3806ch
m 09-04 N/A
STS 11-10 Zi 3843 3806¢ch
: 09-06 N/A
E XLR 09-04 N/A



Page 3

Make/model Year Stud Nut Option#1 Option#2
m Chevrolet
n Aleo & Aleo 5 11-04 Zi 3844
iy Baretta 96-87 S/S 3845
: Camero 13-10 Zi 3844
02-97 Ziext 4683 3845S/S 3846 ext 5120Ccap
u 96-89 Zi 3844  3845S/S 3846 ext 3866 blk
88-67 Zi 3000
z Caprice 96-91 Zi 3804 3845S/S
° 90-71  9.5" drum Zi 3800
y 90-71 11" drum Zi 3802
= 70-66 Zi 3800
< Cavalier 05-00 S/S 3845 3853 ext 3846 ext 3865 gry
99-88  w/alum wheels Zi 3804 3804 ext 3846 ext 5102Ccap
u 87-82 Zi 3804 3805ch
: Celebrity 90-82 Zi 3804 3805ch
chevelle 86-82 Zi 3804 3805ch
n 73-64 Zi 3800
l Chewyll 66-64 Zi 3804  3828ch
Citation 85-80 Zi 3804 3846 ext 3867 blk
< Cobalt 10-05 Zi 3846 ext 3867 blk 3845SS
m Corsica 96-87 S/S 3845 cap
Corsica 93-89  w/alum wheels Zi 3844 3805ch 3853 ext 3865 cap
n Corvette 13-02 N/A 3965 cap
< 01-97 Zi 3844 3846ext 3866 cap
u 96 Zi 3846 ext 3866 cap
95-84 Zi 3844 3845s/s 3846 ext 3867 cap
Cruz 12-11 S/S 3845
q ElCamino 87-82 Zi 3804 3846 ext 3867cap
81-67  disc or drum brk Zi 3800 3828
m Equinox 10-05 Zi 3846 ext 3866cap 3845
h HHR 10-05 Zi 3846ext 3866cap 3845
: Impala & ImpalaSS 13-02 Zi 3844 4683 ext 3865 cap
01-00 Zi 3844 4683 ext 3965 cap
z 96-86 Zi 3804 3805ch
85-77  9.5" drums Zi 3800
G 85-71 11" drums Zi 3802
: 70-60 Zi 3800
4 Kingswood 08-02 Zi 3844 4683 ext 5120Ccap
01-00 Zi 3844 4683 ext 5120Ccap
4 85-77 9.5"drums Zi 3800
m 85-71 11" drums Zi 3802
m 70-60 Zi 3800
Lumina 01-95 Zi 3844 4683 ext 3965 cap 5120Ccap
: 94-90 Zi 3804 3805ch
g Lumina APV 96-92 Zi 4683 ext 5120Ccap



AAiSH

i Vi vyl
Autmative Hardware

Page 4
Make/model Year Stud Nut Option#1 Option#2
m Chevrolet cont'd
n 91-90 Zi 3804 3845
iy Malibu 12-05 Zi 3844 4683 ext 5120Ccap
: 04-97 Zi 3844 4683 ext 5120Ccap
86-82 Zi 3804 3844
G Malibu Classic 05-04 Zi 3844 4683 ext 5120Ccap
Malibu Maxx 08-04 Zi 3844 4683 ext 5120Ccap
z Metro 0199 w/ABS Ch 3850
° 00-99  wo/ABS Ch 3850
y 92 Ch 3841 3842ch
h Monte Carlo 04-95 alum & steel wheels Zi 3844 3845 s/s 4863 ext 5120Ccap
< 88-82 Zi 3804 3845 s/s
Monza 80-75 Zi 3800 3808 ch
u Nova 84-85 Zi 3804
= 79-62 Zi 3800
4 Prism 02-98 Zi 3804 3842ch
n Spectrum 88-95 Zi 3804  3827ch
m Sprint 88-85 Ch 3841
Uplander 08-05 w/steel wheels Zi 3846
< Vega 77-71 Zi 3800
m Volt 13-11 N/A
Chevrolet/ GMC Trucks
m Acadia 12-07 Zi 3843
< Astro Van 05-03 Zi  3855ext 3866 alum whl
u 02-85 Zi 3802 38601zi 3863ch
Avalanche 1500 13-01 Zi 3843  3855ext 3866cap alum whi
Avalanche 2500 13-02 Zi 3843  3855ext 3866cap alum whi
q Blazer 94-92 gas & diesel Zi 3843  3855ext 3866cap alum whi
C,R10/15/1500 PU 99-88 Zi 3843 3855 ext 3866cap alum whl
m C,R20/25/2500 PU 00-83 Zi 3855 ext 3866 alum whl
h C,R30/35/3500 PU 02-88 SRW Zi 3855 ext 3866 alum whl
: 01-91 DRW Zi 3846ext 3866 alum whl
94-91 5/8 bolt N/A
z Caballero 87-82 Zi 3804 3805 ch
80-78 Zi 3800 3808 ch
u Canyon 12-09 Zi 3846 ext 3867 blk
: Colorado 12-09 Zi 3846 ext 3867 blk
4 Cyclone 05-02 Zi 3044  3845s/s
Denali 13-01 Zi 3843  3855ext 3865cap alum whi
4 Denali XL 08-05 Zi 3843  3855ext 3866cap alum whi
m Envoy 09-02 Zi 3846 ext 3845s/s
m Equinox 12-10 Zi 3855 ext 3866cap alum whl
09-05 Zi 3846 ext 3065gry 3845s/s
: Express 1500 13-86 Zi 3843  3855ext 3865cap alum whi
g Express 2500 13-96 Zi 3855 ext 3866cap alum whl



Page 5

Make/model Year Stud Nut Option#1 Option#2
m Chevrolet/ GMC Trucks cont'd
n Express 3500 13-03 N/A
iy 02-96 SRW & DRW Zi 3855 ext 3866cap
: G10/15 Van 95-75 Zi 3802
G20/25 Van 95-75 Zi 3802
u Jimmy 91-87 Zi 3800 3808 ch
86-71 2WD Zi 3802 3807 ch
z 86-71 4WD Zi 3800 3808 ch
° Jimmy PU 09-89 Zi 3044 3845s/s
y K,v10/15/1500 PU 99-92 4WD Zi 3044 3855 ext 3866cap
h 91-88 4WD Zi 3855 ext 3866cap
< 87 4WD Zi 3800 3808 ch
K,v20/25/2500 PU 00-88 4WD Zi 3855 ext 3866cap
u 4WD N/A
: K,v30/35/3500 10-92 DRW Zi 3846 ext 3867cap
91 K3500 DRW w/rear disc N/A
n 91-88  K3500 RWD w/rear drum Zi 3846 ext 3867cap
l LLV Postal Vehicle 95-87 S/S 3845
P20/25 Fwd Control 89-71 Ch 3851
< P30/35 Fwd Control 99-75 Ch 3851
m S10/15 Blazer 04-02 Zi 3844 3845 s/s
01-89 Zi 3804  3845s/s
n 88-82 Ch 3805
< Safari Van 05-03 Zi 3855ext 3866 alum whl
u 02-85 Zi 3802 3860zi 3863ch
Savanna 1500 13-96 Zi 3843 3855ext 3866cap alum whl
Savanna 2500 13-96 Zi  3855ext 3866cap alum whl
q Savanna 3500 13-03 Zi 3855 ext 3866
02-96 DRW Zi  3846ext 3867
m 02-96 SRW
h Sierra 1500 PU 13-99 Zi 3843  3855ext 3866cap alum whl
: Sierra 2500 PU 13-99 Zi 3843 3855 ext 3866cap alum whi
Sierra 3500 PU 13-01
z Sierra C3 01
Sierra Denali 13-02 Zi 3843  3855ext 3866cap alum whl
G Silverado 1500 PU 13-99 Zi 3843 3855 ext 3866cap alum whi
: Silverado 2500 PU 13-99 Zi 3843 3855 ext 3866cap
4 Silverado 3500 PU 13-01
Sonoma 04-03 Zi 3843 3855ext 3866cap alum whl
4 Suburban 1/2 ton 99-92 2WD Zi 3843 3855 ext 3866cap alum whl
m 91-88 2WD Zi 3802 3863 ch
m Suburban 3/4 ton 91-88 N/A 3851 ch alum whl
Tahoe 13-95 Zi 3843  3855ext 3866cap alum whl
g Terrain 12-09 Zi 3843 3855 ext 3866cap



Page 6

Make/model Year Stud Nut Option#1 Option#2
m Chevrolet/ GMC Trucks cont'd
n Traverse 12-09 Zi 3843 3855 ext 3865cap 3866
iy Tracker 04-98 Zi 3801 3827 ch
: Typhoon 05-02 Zi 3844  3845s/s
02-97 Zi 3804 3845s/s
G Venture Van 05-02 Zi 3844  3845s/s
02-97 Zi 3804 3845s/s
z Yukon 13-95 Zi 3843 3855 ext 3866cap alum whl
° Yukon XL 1500 13-00 Zi 3843 3855 ext alum whl
: Yukon XL 25500 13-01 Zi 3843  3855ext 3866cap alum whl
< Chrysler
300 13-05 Zi 3843 3806 ch
0 300M 04-96 S/S 3847
: Cirrus 00-95 Zi 3804 3827 ch
Concorde 04-93 S/S 3847
n Zi 3804 3827 ch
l Conquest 89-87 Zi 3804
Cordoba 88-79 Zi 3802 3805 ch
< E Class exc limo 85-83 Zi 3804 3827 ch
m Fifth Ave 89-83 Zi 3802 3805 ch
Imperial 93-90 Zi 3804 3827 ch
l 83-81 Zi 3802 3805 ch
< Intrepid (Canada)  09-98 S/S 3847  3827ch
u 97-93 Zi 3804 3827 ch
Laser 86-84 Zi 3804 3827 ch
lebaron 95-89 Zi 3804 3827 ch
q 81-77 Zi 3803
LHS 01-98 S/S 3847
m 07-94 Zi 3804 3827 ch
h Newport 96-88 Zi 3804 3827 ch
: 81-74 Zi 3803
New Yorker 96-88 Zi 3804 3827 ch
z 81-74 Zi 3803
Pacifica 08-04 Zi 3044
G PT Cruiser 10-01 Zi 3804 3827 ch
: Prowler 02-01 Zi 3044
4 Sebring 08-95 Zi 3804 3827 ch
06-96 convertible Zi 3044 3827 ch
4 Town & Country 88-82 Zi 3804 3827ch
m 81-74 Zi 3803
m Town & Country Van 2013 Zi 3804 3827 ch
Voyager Van to Zi 3804 3827 ch
§ Grand Voyager Van 1991 Zi 3804 3827 ch



Page 7

Make/model Year Stud Nut Option#1 Option#2
m Dodge
n 400 & 600 88-83 Zi 3804 3827 ch
iy Aries 89-81 Zi 3804 3827 ch
: Aspen 80-76 Zi 3803 3827 ch
Avenger 12-95 Zi 3804 3861 ch 3828ch
G Caliber 12-07 Zi 3804 3861 ch 3828ch
Caravan 07-84 Zi 3804 3861ch 3847s/s
z Challanger 13-08 Zi 3843
° 07-84 Zi 3804 3827 ch 38447Zi
y 93-78 Zi 3804
= Charger 13-06 Zi 3843
< 87-71 Zi 3803 3807 ch
Colt & Colt Vista 94-71 Zi 3804
0 Conquest 86-94 Zi 3804
: Dart 96-74 Zi 3803 3807 ch
Daytona 93-84 Zi 3804 3827ch 3844 Zi
n Diplomat 89-77 Zi 3803
l Dynasty 93-88 Zi 3804 3827ch
Fury 89-74  1/2" x 20 stud Zi 3803
< m20 x 1.5 Zi 3804
m Intrepid (USA) 09-98 S/S 3847 3827 ch
97-93 Zi 3804 3827 ch
l Grand Caravan 13-87 Zi 3804  3827ch
< Journey 13-09 S/S 3847
u Lancer 89-85 Zi 3804 3827 ch
Magnum 08-05 Zi 3843 3806 ch
83-78 Zi 3803
q Mini Ram Van 07-95 Zi 3804 3827 ch
Mirada 83-78 Zi 3803
m Monaco 78-77 Zi 3803
h Neon 05-00 Ch 3827 3846ext 3867cap
: 99-95 Zi 3804 3827c¢h
Nitro 11-07 Ch 3807
z Omni 90-78 Zi 3804 3827 ch
Polara 78-77 Zi 3803
G Rampage 90-78 Zi 3804 3827 ch
: Shadow 94-87 Zi 3804 3827 ch
d Spirit 95-89 Zi 3804 3827 ch
Stealth 96-91 Ch 3858
4 Stratus 06-01 sedan Zi 3844
m 06-01 coupe Zi 3848 3861 ch
m 00-95 Zi 3804 3827 ch



Page 8

m Make/model Year Stud Nut Option#l Option#2
Dodge Light Trucks
n B100/150/1500 Van 98-75 Zi 3803 3844 Zi
Ty B200/250/2500 van  98-78 Zi 3803 3844 Zi
: D100/150 PU 2wd 93-79 Zi 3803
u D200/250 PU 2wd 93-78 Diesel & Gas 1/2" stud Zi 3802
D300/350 PU 2wd 93-78 Diesel & Gas 1/2" stud Zi 3802
z Dakota 10-04 Ch 3851
03-01 Ch 3807
° 00-87 Zi 3803
Ny Durango 13-04 Ch 3851
h 03-98 Ch 3807
< Raider 89-87 Ch 3828
0 Ram 1500 PU 10-00 Ch 3851
- 99-94 2 & 4 whl drive Ch 3828
4 Ram 1500 Van 03-95 Zi 3803
Ram 2500 PU 10-03 2 & 4whl drive Ch 3851
n 02-94 Ch 3851
l Ram2500 Van 03-99 Ch 3851
< Ram3500 PU 10-94 2 & 4whl drive Ch 3851 3863 ch
Ram 50 PU 93-92 Ch 3808 3828 ch
m 91-83 Zi 3804 3828 ch
Ramcharger 93-75 2 & 4whl drive Zi 3803
n W100/150 PU 93-75 4 whl drive Zi 3803
< W200/250 PU 93-75 4 whl drive Zi 3802
u W300/350 PU 93-75 4 whl drive-ex5/8" stud Zi 3802
q Eagle
Summit 95-89 Zi 3804 3861 ch
m Talon 98-90 Zi 3804 3861 ch
h Vision 97-93 Zi 3804 3861 ch
: Ford
z Aspire 97-88 N/R
Contour 00-98 Zi 3844 3827 ch
u 97-95 Zi 3804 3861 ch
Crown Victoia 11-76 Zi 3802 3860 zi
: Country Sedan 11-76 Zi 3802 3860 zi
4 Country stationwgn 11-76 Zi 3802 3860 zi
Courier 11-76 Zi 3802 3860 zi
- Edge 13-09 Ch 3863
m Escort 02-91 Zi 3804 3805 ch
m 90-83 from 2/1/83 Zi 3804
83-81 to1/31/83 Ch 3863
: EXP 0291 O Zi 3804 3805 ch
E 90-83 from 2/1/83 Zi 3804



Make/model
Ford cont'd
EXP

Fiesta

Festiva

Five Hundred
Flex

Focus

Fusion

LTD

LTDII
Maverick
Mustang

Pinto

Probe
Taurus

Tempo
Thunderbird

ZX2

Ford Light Trucks

Aerostar
Bronco
Broncoll
E100/150 Van
E200/250 Van

E300/350 Van

E Super duty Van

Escape
Excursion
Expedition

Explorer

Year

83-81
99-95
94-86
85-71
85-77
97-88
07-05
13-09
10-00
12-06
86-76
86-76
77-74
13-05
04-64
80-74
97-89
13-08
07-98
95-86
94-84
05-03
01-99
88-56
03-98

97-86
96-73
90-84
13-75
13-75
00-90
08-75
08-75
13-01
05-00
13-01
01-02
00-97
13-04
05-02
01-95
94-91

to 1/31/83

11" rear drums

9.5" rear drums

1/2" studs
9/16" studs
9/16" studs

aluminum /chrome wheels
M14 x 2.0 steel wheel
M12 x 1.75 steel wheel

Page 9

Stud Nut Option#1 Option#2

3863
3844
3804
3802
3800
N/R
3863
3863
3863
3828
3802
3802
3802
3802
3802
3802
3828
3807
3844
3804
3804

3828
3802
3828

3803
3802
3803
3802
3802

3827
3845

3868
3856
3862
3802
3859
3807
3803

3846 ext 3867 cap

3847 wi

3808 ch

3828 ch
3860 zi
3860 zi
3860 zi
3860 zi
3860 zi
3860 zi
3804 zi

3827 ch
3827 ch
3827 ch
3828 ch
3827 ch
3863 ch
3827 ch

3807 ch
3863 ch
3807 ch

3851 ch

3851 ch

3808 ch

3863 ch

3807 ch

3846 ext 3867 cap

3807 ch
3807 ch
3807 ch
3807 ch
3807 ch
3807 ch



Make/model

Year

Ford Light Trucks cont'd
Explorer Sport Trac

F150 PU

F100

F250 PU

F250 Super Duty PU

F350 PU

F350 PU cont'd

Ranger

Windstar

Geo
Metro

Prizm
Spectrum
Storm

Tracker

Honda
Accord

Civic

Civic CRX

Hybrid

Hybrid

10-06
05-01
13-09
13-03
01

04-97
01-97
01

00

96-84
13-97
00-97
97-73
86-73
13-09
12-90
12-90
89-80
89-79
85-84
11-98
97-83
03-97
97-95

98-90
94-89
97-89
89

93-90
97-96
95-89

12-03
12-03
02-99
98

97-82
81-76
12-80
12-80
79-73
12-80
79-73

m14 x 2.0 stud steel whl
aluminum /chrome wheels
m14 x 2.0 stud steel whl
m12 x 1.75 stud steel whl
m12 x 1.75 stud steel whl
aluminum /chrome wheels
m14 x 2.0 stud steel whl

m12 x x1.75 stud steel whi
9/16-18 stud

1/2" stud

m14 x 2.0 stud steel wheel
SRW

DRW

Front 4 WD

Front 2WD DRW

Front 4WD DRW 1/2" stud

m10-1.25 studs

Ch
Blk
Ch
Blk
Blk
Blk
Ch
Blk

Blk
Blk

Blk
Ch
Ch

Ch
Ch
Ch
Ch
Ch
Ch
Ch
Ch
Ch
Ch
Ch

Stud Nut Option#1 Option#2

3802
3807
3856
3868
3856
3862
3862
3868
3856
3802
3862
3862

3802
3868
3851
3851

3851
3802
3859
3803
3804
3804

3801
3841
3804
3804
3804
3801
3801

3849
3849
3828
3849
3828
3827
3849
3849
3827
3849
3827

3807 ch

3863 ch

3863 ch

3863 ch
3827 ch
3844 zi

3827 ch
3842ch

3827 ch
3827 ch

3805 ch
3805 ch

3828 ch
3849 ch

3844 zi

Page 10



f‘fa.!?)m?mf #ﬂfﬁ?ﬁ'{’cb"ﬂ-

NUTS & CAPS APPLICATION GUIDE

ikl

Make/model
Honda cont'd
Civic Del Sol
CRV

CRZ

Element

Fit

Insight
Odyssey

Passport
Pilot
Passport
Prelude

Ridgeline
Wagovan
Hyundai
Accent
Azera
Elantra

Entourage
Equus
Excel
Genesis
Santa Fe
Scoupe
Sonota

Tiburon
Tuscon
XG300/350

Infiniti
EX35
FX35
FX45
FX50
G20

G25
G35
G37
130

Year

08-03
12-97
12-11
11-03
13-07
13-00
12-05
04-95
02-94
03-09
08-03
01-92
91-83
13-06
89-82

12-95
13-06
13-06
05-99
98-87
09-07
13-11
94-87
13-10
13-01
95-91
13-99
98-94
08-97
13-05
05-02

12-08
12-08
12-03
12-09
02-96
95-91
08-03
08-03
13-07
02-96

Ch
Ch
Ch
Ch

Ch

Ch
Ch

Ch
Ch
Ch

Ch

Ch
Ch
Ch
Ch
Ch

Ch
Ch
Ch
Ch

Stud Nut Option#1 Option#2

3849
3849
3849
3849
3844
3849

N/A
3849
3827

N/A
3849
3849
3849

N/A
3849

3804
3804
3828
3804
3828
3828
3828
3828
3804
3804
3828
3804
3828
3828
3828
3828

3858
3858
3858
3858
3858
3801
3858
3858
3858
3858

3828 ch

3849 ch

3828 ch
3828 ch

3828 ch

3828 ch
3828 ch

3828 ch

3858ch

Page 11




Automotive HHarduare

Page 12
m Make/model Year Stud Nut Option#1 Option#2
Infiniti cont'd
n 135 04-02 Ch 3858
iy j30 97-93 Zi 3801
: M30 92-90 Zi 3801
M35 10-06 Ch 3858
G M37 12-11 Ch 3858
M35/37 12-02  aluminum wheels Zi 3801
z M45 10-03 Ch 3858
° Q45 06-97 Ch 3858
y 96-90 Zi 3801
h Qx4 03-07 Ch 3858
< QX56 12-04 Ch 3858
Isuzu
u Ascender 08-06 S/S 3845
: 05-02 Zi 3844
I-Mark 93-81 Zi 3804  3827ch
n Impulse 93-81 Zi 3804
n Stylus 93-81 Zi 3804
Oasis 99-96 Ch 3849
< Isuzu Truck
m Amigo 00-90 Ch 3827
Ascender 08-06 Zi 3846 3867 cap
n Axiom 04-03 Ch 3805
< Hombre 00-96 Zi 3844
0 1 290 08-06 Zi 3846 3867 cap
| 350 06 Zi 3846 3867 cap
1370 08-07 Zi 3846 3867 cap
q Pick Up 00-90 Ch 3827
Rodeo 04-02 S/S 3845
m 01-91 Ch 3827
h Rodeo Sport 04-08 S/S 3845
: Trooper 02-01 Ch 3827
z Vehicross 02-99 Ch 3827
Jeep
1 Cherokee 10-84 Ch 3863
—G— 83-74 Zi 3800
f=: CJ Series 86-72 Zi 3802
I DJ Series 86-72 Zi 3802
Comanche 92-86 Ch 3863
m— — Commander 10-06 Ch 3807
Compass 10-07 Zi 3804 3828 ch
Gladiator 88-74 Zi 3800
Grand Cherokee 13-93 Ch 3863
Grand agoneer 91-84 Ch 3808
J10 88-74 Zi 3800
—
e




Page 13

m Make/model Year Stud Nut Option#fl Option#2
Jeep cont'd
n 120 Ch 3851
—~ Liberty 12-02 Ch 3807
: Patriot 12-07 Ch 3827
G Pick Up 88-74 Zi 3800
Scrambler 85-81 Zi 3802
z Wagoneer 92-86 Ch 3863
Wrangler 13-03 Danarear axle Ch 3863
° 99-87 Ch 3863
Ny Kia
h Amante 09-06 Ch 3805
< 05-04 N/A
0 Borrego 11-09 Ch 3805
4 Forte 13-09 Ch 3805
4 Forte 5 13-10 Ch 3805
Optima 13-07 Ch 3805
n 06-07 Zi 3804
l Sedona 12-02 Ch 3805
< Sephia 01-93 Ch 3805
Sorento 13-03 Ch 3805
m Soul 13-10 Ch 3805
Spectra 09-00 Zi 3804
n Spectra 5 09-07 Zi 3804
< Sportage 13-95 Ch 3805
u Lexus
All Models 13-90 Ch 3861
q Lincoln
Aviator 05-03 Zi 3859
m Blackwood 02 m14 x 2.0 stud steel whl Zi 3856
h Continental 02-90 Zi 3844 3827 ch
89-88 Zi 3804 3827 ch
: 87-76 Zi 3802 3860 zi
z LS 06-00 N/A
Mark Series 98-93 Zi 3844 3827 ch
G 92-76 Zi 3802 3860 zi
Mark LTD 08-06 Zi 3844 3857zi
: MKS 13-07 Ch 3807
4 MKT 13-07 Ch 3807
MKX 13-07 Ch 3807
J MKZ 12-07 S/S 3845
m Navigator 13-03 3864 3857 3868
m 02-00 14mm Blk 3856
00-98 m12 x 1.75 stud steel whl Blk 3862
: Town Car 11-82 Zi 3802 3863 ch
E Versailles 80-77 Zi 3802



Page 14

m Make/model Year Stud Nut Option#1 Option#2
Mazda
n 2 13-10 Zi 3804 3828ch
~ 3 13-12 Zi 3804  3828ch
: 11-03 Ch 3828
G 323 95-86 Zi 3804 3828ch
5 13-06 Zi 3804 3828ch
z 6 13-03 Ch 3828
626 04-83 Zi 3804 3828ch
° 82-79 N/R
: 929 95-88 Zi 3804
CX7 11-07 Zi 3804 3828ch
< CX9 11-07 Zi 3804 3828ch
0 Miata 13-90 Zi 3804 3828ch
- Millenia 02-95 Zi 3804 3828ch
4 MPV 04-89 Zi 3804  3828ch
n MX3 95-92 Zi 3804 3828ch
MX5 13-06 Zi 3804 3828ch
l MX6 97-88 Zi 3804 3828ch
< Protege 03-90 Zi 3804 3828ch
Protégé 5 03-90 Zi 3804 3828ch
m RX7 95-93 Cch 3828
n 92-86 Zi 3804 3828ch
RXS8 11-04 Cch 3828
< Sport 10-08 Ch 3828
u Touring 10-08 ch 3828
Grand Touring 10-08 Ch 3828
q Tribute 11-01 S/S 3845
m Mazda Truck
h B2000 93-86 Cch 3828
84-79 Zi 3804
: B2200 93-86 Ch 3828
z 84-79 Zi 3804
B2300 10-94 Ch 3807 3859z
G B2500 10-94 Ch 3807 3859z
B2600 93-86 Cch 3828
: 84-79 Zi 3804
=) B3000 10-94 Ch 3807 3859z
B4000 10-94 Ch 3807 3859z
- Navajo 94-91 Ch 3807 3859z
by
m Mercedes Benz All N/R



Page 15

Make/model Year Stud Nut Option#1 Option#2
m Mercury
n Capri 94-91 Ch 3828
gy 86-79 Zi 3802 3863 ch
: 77-96 Zi 3804
Colony Park 91-75 Zi 3802 3863 ch
G Commuter 91-75 Zi 3802 3863 ch
Country Cruiser 91-75 Zi 3802 3863 ch
z Cougar 02-99 Ch 3828
° 05-56  See Ford Thunderbird
y Grand Marquis 11-76 Zi 3802 3863 ch
h Lynx & LN7 02-81  See Ford Escort
< Milan 11-05 Ch 3828
Marquis See Ford LTD
0 Marauder See Ford LTD
= Montclair See Ford LTD
4 Monterey See Ford LTD
n Park Lane See Ford LTD
l Mountaineer 10-02 Zi 3859  3807ch
09-05 All Ch 3807 3859 zi
< Mystique See Ford Contour
m Sable See Ford Taurus
Topaz See Ford Tempo
l Tracer 99-87 Ch 3828
< Villager 02-93 Zi 3801
u Merkur 89-85 Zi 3804
q Mini All N/R
m Mitsubishi
h 3000GT 99-91 Ch 3861
: Cordia 88-85 from 1/1/85 Zi 3804
85-83 t012/31/84 Ch 3828
z Diamente 04-83 Zi 3804 3861ch 3828ch
Eclipse 12-90 Zi 3804 3861 ch 3828 ch
G Eclpse Spyder 05-90 Zi 3804 3861 ch 3828ch
: Endeaver 11-04 N/A  3828ch
4 Expo 12-85 Zi 3804 3861ch 3828ch
Expo LRV 12-85 Zi 3804 3861 ch 3828 ch
4 Gallant 12-85 Zi 3804 3861ch 3828ch
m Lancer 12-02 Zi 3804 3861 ch 3828 ch
Mighty Max PU 96-83 Zi 3804
m Mirage 02-85 Zi 3804 3861 ch 3828 ch
: Montero 06-81 N/A
E Montero Sport 04-97 Ch 3861 3828 ch



Page 16

m Make/model Year Stud Nut Option#l Option#2
Mitsubishi cont'd
n Outlander 12-03 Ch 3828
—~ Precis 93-87 Cch 3828
: Raider 09-06 Zi 3802 3807 ch
G Sigma 90-88 Zi 3804 3861ch 3828ch
Starion 89-83 Zi 3804
z Tredia 99-91 Cch 3861
88-85 from 1/1/85 Zi 3804
° 85-83  t012/31/84 Ch 3828
gy
h Nissan
< 200SX 98-95 Zi 3801  3858ch
0 88-84 Zi 3801 3801ch 3858ch
- 83-87 zi 3801
4 240SX 98-89 Zi 3801
2407 96-90 Ch 3858
n 89-87 All Zi 3801
l 86-70 Zi 3801  3858ch
< 2607 96-90 Ch 3858
89-87 Al Zi 3801
m 86-70 Zi 3801 3858 ch
2807 96-90 Ch 3858
l 89-87 All Zi 3801
< 86-70 Zi 3801  3858ch
u 280ZX 96-90 Ch 3858
89-87 Al Zi 3801
q 86-70 Zi 3801 3858 ch
300ZX 96-90 Ch 3858
m 89-87  All Zi 3801
h 86-70 Zi 3801  3858ch
3502 09-03 Zi 3801 3858 ch
: 370z 96-90 Ch 3858
z 89-87 Al Ch 3801
86-70 Zi 3801  3858ch
G Altima 13-97 Zi 3801 3858 ch
96-93 Zi 3801 3801C
: Axxess 90 Zi 3801 3801C
4 Cube 13-09 Ch 3850
GT-R 12-09 Zi 3801
4 Juke 13-11 Ch 3850
m Leaf 13-11 Ch 3850
m Maxima 13-95 Zi 3801  3858ch
94-92 Zi 3801 3801C 3858 ch
: 91-89 Zi 3801
E 88-85 Zi 3801 3801C 3858 ch



Page 17

Make/model Year Stud Nut Option#1 Option#2
m Nissan cont'd
n Murano 13-03 Zi 3801 3850ch
iy NX 1600 93-91 Zi 3801 3801C 3858ch
: NX 2000 93-91 Zi 3801 3850ch
Pulsar & Pulsar NX 90-87 Zi 3801 3801C
G 86-83 Zi 3801 3858 ch
Roque 13-09 Zi 3801 3850ch
z Sentra 92-90 Zi 3801 3801C 3858ch
° 90-82 Zi 3801 3858¢h
y Stanza 92-90 Zi 3801
h Zi 3801 3858 ch
< Versa 12-07 Zi 3801 3850ch
Quest 13-99 Zi 3801
0 98-93 Zi 3801 3858 ch
.y
4 Nissan LightTtruck
n Armada 13-04 Ch 3858
l Frontier 12-05 Zi 3801 3850ch
04-98 Ch 3858
< NV 1500 N/A
m NV 2500 N/A
NV 3500 N/A
l Pathfinder 13-87 Zi 3801 3850ch
< Pick Up 10-90 Zi 3801 3858 ch
u 89-86 D21 SRW Ch 3858
89-86 D21 DRW Zi 3801
89-72 Zi 3801
q Xterra 12-05 Zi 3801 3858 ch
04-00 Ch 3858
E Titan Ch 3858
: Oldsmobile
Achieva 98-92 Zi 3844 3845s/s 3846 ext 3867 cap
z Alero 04-99 Zi 3844 3845s/s 3846 ext 3867 cap
Aurora 03-95 Zi 3844 3845s/s 3846 ext 3867 cap
G bravado 04-91 Zi 3844 3845s/s 3846 ext 3867 cap
: Calais 91-82 Zi 3804 3828 ch 3805 ch
4 81-78 Zi 3800
Ciera 92-82 Zi 3804 3828 ch 3846 ext 3867 cap
4 Custom Cruiser 92-91 Zi 3804 3844 zi
m 90-71 Zi 3802
m Cutlass 99-85 Zi 3804 3847s/s 3844zi
81.73 Zi 3800 3808 ch
: Cutlass Calais 91-82 Zi 3804 3828 ch 3805 ch
E 81-78 Zi 3800



L[ LUG NUTS & CAPS APPLICATION GUIDE

(i

E

Make/model
Oldsmobile cont'd
Cutlass Ciera
Cutlass Supreme

Eighty Eight

Delta 88

Delmont 88

Dynamic 88

Fienza
Holiday

Intrique

LSS

Ninety Eight
Omega
Royale

Super 88

Silhouette

Toranado

Year

92-82
97-95
94-82
81-73
99-95
94-86
85-71
85-77
99-95
94-86
85-71
85-77
99-95
94-86
85-71
85-77
99-95
94-86
85-71
85-77
88-82
99-95
94-86
85-71
85-77
02-98
99-96
96-85
84-80
99-95
94-86
85-71
85-77
99-95
94-86
85-71
85-77
04-98
97-90
92-79

11" rear drums
9.5" rear drums

11" rear drums
9.5" rear drums

11" rear drums
9.5" rear drums

11" rear drums
9.5" rear drums

11" rear drums
9.5" rear drums

11" rear drums
9.5" rear drums

11" rear drums
9.5" rear drums

Stud Nut Option#1
3804 3828 ch

3846 ext 4686 ext
3804 3846 ext
3800 3808 ch
3844 3846 ext
3804 3847
3802
3800 3808 ch
3844 3846 ext
3804 3847
3802
3800 3808 ch
3844 3846 ext
3804 3847
3802
3800 3808 ch
3844 3846 ext
3804 3847
3802
3800 3808 ch
3804 3847 wi
3844 3846 ext
3804 3847 wi
3802
3800 3808 ch

4683 ext 5120C cap
3844 3846 ext
3804 3847 wi
3845 3847 wi
3844 3846 ext
3804 3847 wi
3802
3800 3808 ch
3844 3846 ext
3804 3847 wi
3802
3800 3808 ch
3844 4683 ext

4683 ext 5120C cap

3844

3828 ch

Option#2

3846 ext
3866 cap
3867cap

3866 cap
3846 ext

3866 cap
3846 ext

3866 cap
3846 ext

3867 cap
3846 ext

3805 ch
3867 cap
3846 ext

3866 cap
3844 zi
3805 ch

3866 cap
3846 ext

3866 cap
3846 ext

5120C cap

3845 s/s

Page 18

3667cap

5120Ccap

3867cap

3866 cap

3866 cap

3866 cap

3866 cap

3845 s/s

3866 cap

3866 cap



Page 19

Make/model Year Stud Nut Option#1 Option#2
m Passport
n -mark 89-79 Zi 3804 3827ch
gy Impulse 92-89 Zi 3804 3827 ch
: Stylus 93-91 Zi 3804 3827c¢h
G Plymouth
Acclaim 95-89 Zi 3804 3827 ch
z Barracuda 74-73 Zi 3803 3807 ch
° 72-71 Zi 3803
y Breeze 00-96 Zi 3804 3827 ch 38447zi
h Caravelle 88.85 Zi 3804 3827 ch 3844 7zi
< Champ 82-79 Zi 3804 3828 ch
Colt 94-86 Zi 3804 3828 ch
0 Colt Vista 94-86 All Zi 3804 3861ch 3828ch
: 85-84 Ch 3828
Conquest 86-94 Zi 3804
n Dart 96-74 Zi 3803 3807 ch
l Fury 89-74  1/2" stud Zi 3803
Gran Fury 89-74 Zi 3803
< Grand Voyager 13-91 Zi 3804 3827 ch
m Horizon 90-78 Zi 3804 3827 ch
Lazer 94-90 Zi 3804 3861 ch
l Neon 05-00 Ch 3827
< 99-95 Zi 3804 3827ch
u PB100/150 Van 98-75 Zi 3803 3844 Zi
PB200/250 van 98-78 Zi 3803 3844 Zi
Prowler 01-97 Zi 3844
q Reliant 89-85 Zi 3804 3827 ch 38447zi
roadrunner 89-74  1/2" stud Zi 3803
m Sapporo 86-78 Ch 3828
h Satellite 89-74 1/2" stud Zi 3803
: Scamp 89-74  1/2" stud Zi 3803
z Superbird 89-74  1/2" stud Zi 3803
Sundance 89-74  1/2" stud Zi 3803
G Valiant 89-74  1/2" stud Zi 3803
: Voyager 07-84 Zi 3804 3861 ch 3847s/s
4 Pontiac
4 6000 91-82 Zi 3804 3847 wi 4683 ext 3865 cap
m Aztec 05-04 aluminum wheels S/S 3845
m 05-01 steel wheels Zi 4683 ext 5120C 3845s/s
Bonneville 05-02 Zi 4683 ext 5120C
: 01-00 Zi 3844 3847 s/s 3853 ext 3865 cap
E 99-94 Zi 3846 ext



W
0
S
G
2
9
2
9
-
g
<
é’
0
%
r
S
2
o
=
=4
T
I
S

Make/model
Pontiac cont'd

Catalina
Executive
Fiero
Firebird

Firefly

G3

G5

G6

Grand AM

Grand Le Mans
Grand Prix

GTO
J2000
Le Mans

Montana
Parisienne

Phoenix

Safari
Sunbird

Sunfire

T1000
Transport

Vibe

Year

93-91
90-82
80-71
88-84
88-84
88-84
02-88
87-82
81-68
00-95
10-05
10-07
10-05
05-99
05-99
98-96
95-94
93-92
93-85
80-75
81-75
08-91
90-82
81-73
06-04
85-82
93-88
81-73
09-99
86-83
96-83
84-80
79-77
89-87
05-00
99-92
91-85
80-76
05-00
99-95
87-81
98-92
91-90
10-03

aluminum wheels

steel wheels
steel wheels
steel wheels
aluminum wheels
steel wheels

aluminum wheels
steel wheels

11" drum
9.5" drum

Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
S/S
Zi
S/S
Zi
S/S
Zi
Zi
Zi
Zi
Zi
Zi
Ch
Zi

Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
Zi
S/S
Zi
Zi
Ch

Stud Nut Option#1 Option#2

3844
3804
3802
3804
3804
3804
3846 ext
3804
3800
3846 ext
3844
3844
3844
3845
3846 ext
3845
3844
3845
3804
3800
3800
3846 ext
3804
3800
3828
3804
N/R
3800
3846 ext
3802
3800
3804
3800
3802
3846 ext
3844
3804
3800
3846 ext
3844
3845
3846 ext
3804
3828

3847 wi
3808 ch
3847 wi
3847 wi
3847 wi
3865 cap

3865 cap
3828 ch
3828 ch
3828 ch
3846 ext
3866 cap
3846 ext
3845 s/s
3846 ext
3853 ext
3808 ch
3808 ch
3867cap
3844 zi
3808 ch

3847 wi

3808 ch
3867 cap

3808 ch
3845 s/s
3808 ch

3845 s/s
3853 ext
3845 s/s
3808 ch
3867 cap
3853 ext
3805 ch
5120C
3846 ext

3845s/s

4683 ext
4683 ext
4683 ext
4683 ext

4683 ext
3845 s/s
3845 s/s
3845 s/s
5120C

3867cap
3853 ext

3867 cap
3865 cap

3845 s/s
3846 ext

3805 ch

3845 s/s

3867 cap
5120Ccap
3847 wi

3845 s/s
5120Ccap

5120Ccap

Page 20

5120Ccap
5120Ccap
5120Ccap
5120Ccap

5120Ccap

3865 cap

5120Ccap

3845 s/s



I,
Q
S
G
2
9
q
9
=
g
T
o
-
O
oa
£
3
2
<
=
=
™
I
3

Make/model
Porsche

Renault
Alliance
Encore

SAAB
99
Sonett

Saturn
Astra
Aura
Relay
lon

L
Outlook
SC

Sky

SL

SW

Scion
1Q
TC
XB
XD
XA

Smart for two

Sterling
825
827

Subaru

B9 Tribeca
Baja

Brat
Deluxe

DL

FE

GF

GLF

GL

Year
All

87-83
87-83

N/R except
80-71
74-71

09-08
09-07
07-05
07-02
04-91
10-97
04-91
10-07

13-12
13-05
13-04
13-07
06-04

12-05

88-87
91-89

10-06
06-03
89-72
87-78
87-78
92-72
89-72
94-80
89-72

Ch
Ch

Zi
Zi

Zi
Zi
Zi
Zi
Zi

Zi
Zi
Zi
Zi

Zi
Zi
Zi
Zi
Zi

Zi
Zi

Zi
Zi
Ch
Ch
Ch
Zi
Ch
Zi
Ch

Stud Nut Option#1 Option#2

N/R

3805
3805

3803
3803

3844
3844
3844
4683 ext
4683 ext
N/A
4683 ext
4683 ext
4683 ext
4683 ext

3804
3804
3804
3804
3804

N/A

3804
3804

3804
3804
3827
3827
3827
3804
3827
3804
3827

3828 ch

3828 ch

3828 ch
5120Ccap
5120Ccap

5120Ccap
5120Ccap
5120Ccap
5120Ccap

3846 ext
3846 ext
3846 ext
3845 s/s

3845 s/s

Page 21

3866 cap
3866 cap
3866 cap



Page 22

m Make/model Year Stud Nut Option#1l Optioni#2
Subaru cont'd
n GL-10 89-72 Ch 3827
—~ Impreza 12-95 Zi 3804
: Impreza Outback 13-95 Zi 3804
G Justy 94-87 Zi 3804
Legacy 13-95 Zi 3804
z Legacy Outback 13-93 Zi 3804
Loyale 94-90 Zi 3804 3827 ch
° Star 89-72 Ch 3827
Ny RX 89-72 Ch 3827
h SVX 97-82 Zi 3804
< XT 91-85 Zi 3804
Q Suzuki
4 Aereo 07-95 N/A 3827 ch
Aereo SX 07-95 N/A 3827 ch
n Esteem 02-95 N/A 3827 ch
l Gran Vitara 12-99 N/A 3827 ch
< Klashi 12-10 N/A  3827ch
Samuri 95-89 N/A 3827 ch
m Sidekick 98-89 N/A 3827 ch
l Swift 01-89 N/A
SX4 12-08 N/A 3827 ch
< Vitara 06-99 N/A 3827 ch
u X-90 98-96 N/A 3827 ch
XL-7 16-02 N/A 3827 ch
q Toyota
m Avalon 13-89  w/36mm rear bolt Zi 3804 3861 ch
h 13-89  w/41mm rear bolt Zi 3804 3861 ch
Camry 12-83 Zi 3804 3861 ch
: Camry Solara 08-99 Zi 3804 3861 ch
z Celica 10-94 Ch 3828 3861 ch
93-71 Zi 3804 3861 ch
G Corolla 13-68 Ch 3828 3861 ch
Cressida 92-89 N/A
: 88-79 Zi 3804 3861 ch
4 Echo 05-00 Zi 3804  3861ch
FJ 08-07 Zi 3804 3861 ch
4 Matrix 13-03 Zi 3804 3861 ch
m MR2 05-85 Zi 3804 3861 ch
m MR2 Spyder 05-85 Zi 3804  3861ch
Paseo 99-92 Zi 3804 3861 ch
g Previa 97-91 Zi 3804 3861 ch



Page 23

Make/model Year Stud Nut Option#1 Option#2
m Toyota cont'd
n Prius 13-01 Ch 3601
iy Sienna 13-98 Zi 3804 3861 ch
: Starlet 84-81 Zi 3804 3861 ch
Supra 98-87 N/A
G 86-79 Zi 3804
Tercel 99-83 Zi 3804 3861 ch
z 82-80 Ch 3828
° Van 89-84 ch 3828
y Venza 13-09 w/36mm front & rear bolt  Zi 3844 3828 ch
h w/41mm front & rear bolt N/A
< Yaris 13-09 w/36mm front & rear bolt  Zi 3844 3828 ch
w/41mm front & rear bolt N/A
0 Toyota Light Trucks
: 4 Runner 12-84 Ch 3828 3844 zi
FJ Criuser 12-07 Ch 3828 3844 zi
n Highlander 10-01 Ch 3828 3844 zi
n Land Criuser 97-84 Ch 3828
90-81 Zi 3804
< 80-69 Zi 3804
m Pick Up 95-79 2WD 5lug Zi 3804
95-84 4WD Ch 3828
l 83-79 4WD Zi 3804
< Rav 4 12-96 2WD Ch 3828
u 12-97 4WD Ch 3828
Sequoia 12-00 All Ch 3828
T100 98-93 Zi 3804
q Tacoma 12-95 2WD 5lug Zi 3804
12-95 4WD Ch 3828
m Tundra 12-00 2WD 6lug Zi 3804
h 12-00 2WD 5lug Ch 3828
: 12-00  4WD Ch 3828
z Volkswagon All N/R
G Volvo
: 142, 144, 145 74-68 Zi 3800 3845 ch
d 164 75-70 Zi 3800 3845 ch
240, 242, 245, 262,
4 264, 265 93-75 Zi 3800 3845 ch
m 740, 745, 760 92-83 Zi 3804 3805ch
m 940 95-91 Zi 3804 3805 ch
960 97-92 Zi 3804 3805 ch
§ C70,S70 N/R



7

Automotive Har

TION GUIDE

PRI s o

deware

Make/model
Volvo cont'd
S40, V40

S60

S80

$90, V90

Year

03-00
02-01
02-01
02-98

Stud Nut Option#1 Option#2

N/A
N/A
N/A
N/R

Page 24



ISV |
N Ivi vl

Automotive Hardware

1070 HERITAGE ROAD, BURLINGTON, ONTARIO, CANADA L7L4X9
ORDER DESK: 800-651-7445  FAX: 905-335-1829 < INFO@FMSIINC.COM  WWW.FMSIINC.COM



